o . b b he b e e e e W wids

N+

Nn-1{

J

%) du < FO+FR+£E)+- -+ £ )

n+1
SI

n

nw-2 Wn-|

3

2

l

14
+40) < § P =

+(2)+ £(3)+

n

F)+ £@)+ £@)+ -+ £(n) < +() 4‘jf +(x) dx



125

G0) | 5 £6) o < £+ e +-F(m)<-$(l)+5—?—(x

Cose (¢ Otz Sthot H) oy = L (ke ) Thau
L)+ F@@)4 - +—ch) <—PO)+5 ~FQ<)M =
Lo G‘—mw&w +¢@))< Jo (<) +3 ) dx ) =

Z +(n) <~p(: +j—(‘—(x)ol¢( L)+ L <o, e,
Coae 2 ° WMS#CX)M 00, Then

N+

S A& dx < )+ RR)E ) =
Lo jM“\MX Ix < Dl (-ﬁ(!%-\(:(z) -L-{Z(m)) =~

n-> po n-> co
S(\HX)M < Z{JF@A) = VIZ[—(‘—(M = 0o L.e./
n= =
00

WTM WMW\Q/ML

MM WMWWX>
a.) ¥ SﬁQCK)O(?( conrtgag | Fhan

24(m) ConutNgay
b.) o%, SI\PO%()MM?/%) Shog
E-C(V\) a(»w%




Note HhoAt

% () = BN 2R)+ -+ Sl R+ PR
n= | \ NG
Sw R
Jaxr Sp= )+ PR+ -+ Lln) be #the AL

R = )+ $(nt2)4+ -+

N N nHa N3

Llns)+ e 2)+ Hne 3+ < Sh $x) olx )
Ny A o\

t + t } £
N N+l NE2 N+3

S:i(_‘;(x)a(% < —Q—(vx+()+4‘—(ma)+ cee o Hhat

() %) g::wﬁ(x)o‘% < Pl + P )+ < Sio%‘—(x) M]




